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Perg. Resposta Cotação 

Parc. Tot. 

1.       B-divisibilidade 1,0 1,0 
 

2. a) Dados 

ti =1s  

tf = 4s 

Vi=40m/s                                (0,5)          (0,3)                   (0,2)                                
Vf = 160 m/s 

a? 

 

b) Dados 

m = 2 kg        NxamF 80402. ===  

a = 40 m/s
2 (0,5)                     (0,5)  

F? 

 

c)  

 

 
  

d) Movimento rectilíneo uniformemente variado (acelerado) 
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3. a) Dados 

m = 8 kg         P = mg = 8.10= 80N 

g = 10 m/s
2 (0,5)             

P? 

 

b) Dados 

Vdes=VCorpo = 0,004m
3              NxxgVF clI 4010004,0103 === ρ

 

33 /10 mkgl =ρ                                (0,5)               (0,5)           (0,5) 

FI? 

 

c) Dados 

P = 80N NFPP Ia 404080 =−=−=  

FI = 40 N 

Pa?                              (0,5)            (0,5)          (0,5) 
 

 

 

 

0,5 

 

 

 

 

 

1,5 

 

 

 

 

 

 

1,5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3,5 

2/40
3

120

14

40160
sm

t

V
a ==

−

−
=

∆

∆
=



Perg. Resposta Cotação 

Parc. Tot. 

4. a) Dados 

R1= 10Ω              

R2 = 60Ω             
R3= 30Ω        
 RT ?                         (0,5)                                     (0,2)                                (0,3)                          
 

 

  
                                               (0,5)                        (0,2)        (0,3) 
 

 

b) Dados 

RT = 30Ω 

VT = 90V            

IR2?                (0,3)                   (0,2) 
 

                V23=IT.R23 =3x20=60V            A
R

V
I R 1

60

60

2

23

2 ===  

                    (0,3)                      (0,2)                   (0,3)            (0,2) 
 

 

c) Dados 

I = 2A  

R3 = 30Ω            (0,5)                             (0,5)                       (0,5) 
t  = 1 min = 60s 

W? 
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5. A       V              B       F              C        V               D        V             E        F 

        
 

5x0,5 
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6. 
 

 

 

 

 

 

7. 

      Dados  

 L = 0,10m   

        g =10m/s
2
 

        T? 

        f?                                            (1,0)                (0,5)                (0,5)           (0,5) 
 

 

         

                                        
                                      (0,5)                     (0,5)        
     
    

     B- massa da esfera pendular. (1,0) 
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